cAR A 2 1] # RATERY L R IFRE

# O P:EREFPB(RAFXTH)

THFF. 5356048

AL 4 F (A3 M 1) -

QAP HL R RIFEE -

3ARMA SHE L R EEEA AN & AR A LD A ﬁﬁg’%IOOAo

AT RIALI R L AME L E R A TRRP TF > 20 AP KRR
FAL G FERLTERTFILFE 20 0 AHREFHLEEE o

502 B8 LR m AR AR K R S MPEII R AFESE A
B e

6*:&“5{#%& Bl 0 AR AR A
TRERPRSEE  RUAEF R Ay GAETREAN O LTI REFL G
@T?B’»o
- “E LI 40%Q0% FH2 4 0 £ 40 4)
1L5- 573 SOLEFEW) R EeR* 14 @ 70 LEHEW)HTR 2@ ¥ 10 FF > 1,500 L £
W)@ ok B * 20 pF > 80 A F(W)h T AR R * 2+ [P SP /L PHEO6RT 5
BT E R P
2.8 57 RE(V)HT BAv - F BTIEY > PRI BLEI2ZI/BERAIE -2 ~F ~ &7
PR BB RIS FXRmMA)

>

;L

S LT
—m\-m&‘

3c4c [B 1] #77 > P RBENERTIERZ . HmH(Q) -
44c [B12] #rn » BF RV p RRREPB<#FE THEW)-

R 60 v(>) Ao

—> $710322032°0 3,80 35140 1503750
5Q 3Q

(B 1] [® 2]
Sj—lm%dﬂﬁhmgw’m Ba T RE L 4KRF(V) > #5240 r 2F Z B (MA)HE
TR RTREBF L A EFEE20TH(ms)E R TFEIHNTREEHE
REE(V) o
6.4 [R3] #tm » §BM_ FEE 7R TIELLPEIFLF 40 I HW) -
The [B14) #77 > fRag s e REm S KREF(V)o

S S 12Q 12Q Rm
1 129 3 49 AANA AMA—o A —/\N\,—oa

LN :1\]_[;::——-'7 - oS @A e il

+ 36V
S, 12 [§) S 8$Q 20V/40W
YV ’ ! Tt o
l —AAN ob — )
120

[® 3] [ B 4)
ArTE ¥ 1T 547 [iin T s (5% )




84c [B 5] #777 » TEAET(S » T 5 BorE iz £ 5 £32()-
9.4c [B 6] 7% » Qi=36x10° B 4 (C)» Qu=-27x 10" £ 4 (C) » © 4vd T/FAPEE9 2 ¢ (m) -
PlABLAT B A L 2H/RA o(zzi%f&K=$=9xlo")

104 [B 7] #% > Li=10% F(H) > Lo=15% Fi(H) » M=32 |H) > BIATR Lr 2 THIH) -

3Q)
o M
L 139&1 A 5 \ \T\ \/\ \7/ Lz/ |
6mH 5mF & — N |
~— 6m——f-3ma] 1f —
(®5] [®6] (7]

1. - RL-CEBTE > $ 45 5 6kHzPF > 7 K17 Xp=j144 4 (Q) » Xc=-225 %4 (Q) » 7]
l}l.. »;‘Z 2, ,vb;},}%ﬁ? _1 fO P kHZ o

128 1 L a5 T B 4 36 7 L 4HKW) > # 5 FlI(PF) 3 0.6(GF i5) 2t #-7 & F#(PF)#
r§ I 0.8 (/% 19) }f%%‘: » Igﬁr w 5 %m‘f“‘ L '_% —/’F—i(kVAR)

1340 [B] 8) #77 » HHaEEd %A 5 105 /T3 28 (wh/m?) (x 2 7@ > w) > HHE
42T m) FEMUS 2/ MB)ESFP 2 e BBEcvEe) AR RTHBRL
R (V) o

1440 [®9) #7771 > % R B Vi=6 KF(V)FF > RIR e 13

XX X X X

X X X X X
[ 8]
1540 [® 10) #757 » & 2.9 & V| % REFWV) -

16.4c (M 11 #77% » Tiklgs % 33(A) ° G Bl 48 £ 7 3 4 75 1 cos 30° = 0.866 -

cos 36.9°=0.6)

Is 6

Vs=40V 2 sin(377t)V i12Q

40

T

(@ 11]




173 - THEF LS 100 V/500 W 83 F P RMTHAFTH 25 #p0 THELATRD
60 RE(V)Z TR RATEHEBNEHF 5 THEW) -

188 %%+ 2in TRk > Vi=20sin(377t +45°) k4 (V)E Vo =10 cos(377t - 30°) K4 (V) >
E R *@iﬁﬂ (4 B e

19.4 - RC # %i?,mx R R
20 et f(uF) o % t=3spF > BT %
~ e3=0.05)

TRL 20 R#EF(V) 2 R EL S50 FRmekQ) TF 5
B ATRL RENV) (G e!=0.368e2=0.135

204 - H 49 % in T B A~ LR R RIR V(t) = 50\/5 cos(377t S 3R E(V) 0 A4 T
i(1)= 4V2sin(377t + 27°)% 15 (A) » 3R R TR s F 5 T (W) o

ISR FE R 60%dE R 154 0 £ 60 4)
1.4c [ B 12)] #777 » 5 Ni=500 % > Np=1000 % > [;=5A > @;; =4x10° Wb » @;, =6x10° Wb >
BRI (432 154)

()8 & % Kn (34 )

@) 5B Li (44) T '?
() F & Lo (44)
38 M L) N

PL1kahEaE)
1235 Gl )

[® 12]

2.4c [ 13)] ##7 » BX E=20V > R=5Q L=5H > £#%EM Sd ~5"0">33"1"
Eh (33 2 154)

(Dt=04ypE2 vL (34) 0
(2)t=17f"/‘F’?’:iVL‘VR‘i(9A\’E“IE3A°\> I%S +vR
G)t= 5Pz v (34) o-o—MN jvl
(;x:e'=0368~ e2=0.135 ~ ¢ =0.05) 20 R +
+
E= LSV,
L 4
[® 13]

ArTHE % 3T EA4F (G gl = NP



340 [B 14) #57 > 2 f 0 (34 %454 > £ 154)
()5 @Ry (54)
Q) E T FHE Xep (54)

@)@l (54) l»Rs=59 Xs=15 8
AM—————3
GL:i ALB 1)
V=1002£0°V] | _ I
Z=10/0Q R, § Xp=—
(# 14]
4. 40 [B15] #07 > B Rz AT B2 T 40> FRPBEAA 5 ACB - By =4020°» 384

(345> 53E5A > £ 154)
(1) # 5 Fl#c (54~ )
Q) B % (54)

(3) ARt & (54)

[® 15]



HEPPB AATH

- ~ 3 L 4R

1. 20 1. 7.5/ 2

2. 02/ 12. 21

3.1 13. 100

4. 0 14. 3

5.8 15, -24

6. Si~S2+S; 16. 42 sin(377t-36.97)/

442 cos(377t+53.1°%)

7. 4 17. 300
8. 625/ = 18. 15
9. 36 19. 19

10. 31 20. 100



